2007

 $\rm Nr~38$

Seshadev Padhi^{*}

OSCILLATION AND ASYMPTOTIC BEHAVIOUR OF SOLUTIONS OF SECOND ORDER NEUTRAL DIFFERENTIAL EQUATIONS WITH POSITIVE AND NEGATIVE COEFFICIENTS

ABSTRACT. Sufficient conditions in terms of the coefficient functions for the oscillation and asymptotic behavior of nonoscillatory solutions of a class of second order nonlinear neutral differential equations have been obtained. The results improve some earlier results.

KEY WORDS: oscillatory solution, nonoscillatory solution.

AMS Mathematics Subject Classification: 34C10, 34K15.

1. Introduction

In this paper, we consider the oscillation and asymptotic behavior of nonoscillatory solutions of the second order neutral differential equations of the form

(1)
$$[x(t) - \sum_{i=1}^{l} c_i(t)x(t-\tau_i)]'' + \sum_{i=1}^{m} p_i(t)G(x(t-\delta_i))$$
$$- \sum_{i=1}^{n} q_i(t)G(x(t-\sigma_i)) = f(t)$$

where $m \ge n$ and $\tau_1 \cdots \tau_l$, $\delta_1 \cdots \delta_m$, and $\sigma_1 \cdots \sigma_n$ are positive reals, $c_i, f \in C([0,\infty), R), i = 1, ..., l, p_i \in C([0,\infty), [0,\infty))$ for $i = 1, \cdots, m$ and $q_i \in C([0,\infty), [0,\infty))$ for $i = 1, \cdots, n, G \in C(R, R), G$ is nondecreasing with xG(x) > 0 for $x \ne 0$. We assume that there exists a continuous function $F(t) \in C^2([0,\infty), R)$ such that F''(t) = f(t) and $\lim_{t\to\infty} F(t) = 0$.

By a solution of (1), we mean a continuous function x(t) which is defined for $t \ge t_0 - \rho$ such that $x(t) - \sum_{i=1}^{l} c_i(t)x(t - \tau_i) \in C^2([t_0, \infty), R)$ and (1) is satisfied for $t \ge t_0$ where $\rho = \max\{\tau_1 \cdots \tau_l, \delta_1 \cdots \delta_m, \sigma_1 \cdots \sigma_n\}$. A solution

 $^{^{\}ast}\,$ The work was done while the author visited Department of Mathematics and Statistics, Mississippi State University, Mississippi State, MS 39762, U.S.A.

of (1) is called oscillatory if it has arbitrarily large zeros. Otherwise, it is called nonoscillatory.

Throughout this work we assume that $p_i(t) - q_i(t - \delta_i + \sigma_i) \ge 0$ for $i = 1, \dots, n$.

Sufficient conditions for oscillation of solutions of first order neutral delay differential equations with positive and negative coefficients have been studied by many authors, see ([1],[2],[6], [7],[8]). It is recently, that second order neutral differential equations with positive and negative coefficients have been given a serious study. In a recent paper, Parhi and Chand [5] studied (1) when G(x) = x and they obtained various sufficient conditions for the oscillation of all bounded solutions of the linear homogeneous equation. Further, Manojlovic et al. [4] studied Eq.(1) with G(x) = x where they have assumed one additional condition $q_i(t) \leq q_i(t-\sigma_i)$ for every $i = 1, \dots, n$. In this paper, we study Eq.(1) on various ranges on $\sum_{i=1}^{l} c_i(t)$ and improve the results of [5] by removing not only on the boundedness on the solutions but also relaxing other conditions as well. Our results improve the results of [4] also, where we remove the condition $q_i(t) \leq Q_i(t-\sigma_i)$ for every $i = 1, \dots, n$.

We consider the following ranges on $\sum_{i=1}^{l} c_i(t)$:

$$(A_1) \qquad 0 \le \sum_{i=1}^{l} c_i(t) \le c < 1$$

$$(A_2) \quad -1 \le c_1 \le \sum_{i=1}^{l} c_i(t) \le 0$$

$$(A_3) \quad -c_3 \le \sum_{i=1}^l c_i(t) \le -c_2 < -1$$

$$(A_4) 1 \le c_4 \le \sum_{i=1}^l c_i(t) \le c_5 (A_5) -c_6 \le \sum_{i=1}^l c_i(t) \le -c_7 \le 0$$

where c_1, \dots, c_7 are positive constants.

The following assumptions are needed for use in the sequel:

 (H_1) $\liminf_{|u|\to\infty} \frac{G(u)}{u} \le \beta$, where $\beta > 0$ is a real number.

$$(H_2) \qquad \lim_{t \to \infty} \sum_{i=1}^n \int_{t_0}^t [p_i(s) - q_i(s - \delta_i + \sigma_i)] \, ds = \infty.$$

$$(H_3) \qquad \lim_{t \to \infty} \frac{k}{t} \int_{t_0}^t s\{\sum_{i=1}^n [p_i(s) - q_i(s - \delta_i + \sigma_i)]\} \, ds > 1$$

for any positive constant k.

 (H_4) F(t) is oscillatory.

$$(H_5) \qquad \beta \sum_{i=1}^n \int_{s-\delta_i+\sigma_i}^{\infty} q_i(\theta) \, d\theta \, ds < 1 \text{ when } \delta_i \ge \sigma_i$$

$$(H_6) \qquad c + \beta \sum_{i=1}^n \int_{s-\delta_i+\sigma_i}^\infty q_i(\theta) \, d\theta \, ds < 1$$

 (H_7) $\delta_i \ge \sigma_i$ for every $i = 1, \cdots, n$.

$$(H_8)$$
 $\sigma_i \ge \delta_i$ for every $i = 1, \cdots, n$.

 $(H_9) \qquad \beta \sum_{i=1}^n \int_{s-\delta_i+\sigma_i}^\infty q_i(\theta) \, d\theta \, ds < 1+c_7$

The following result will be needed for our use (see Lemma 1.5.4 in [3]).

Lemma 1. Let $a \in (-\infty, 0), \tau \in (0, \infty), t_0 \in R$ and suppose that a function $x \in C[[t_0 - \tau, \infty), R]$ satisfy the inequality

$$x(t) \leq a + \max_{t-\tau \leq s \leq t} x(s)$$

for $t \ge t_0$. Then x(t) cannot be a nonnegative function.

2. Main results - the case when $\delta_i \geq \sigma_i$, $i = 1, \dots, n$.

In this section, we consider Eq. (1) when $\delta_i \geq \sigma_i$, $i = 1, \dots, n$. We shall obtain sufficient conditions under which a solution of the equation is either oscillatory or tends to zero as $t \to \infty$. We observe that the results hold when G is either linear or sublinear. This is mainly due to the assumption (H_1) .

Theorem 1. Let $c_i(t), i = 1, \dots, l$ be as in (A_1) . If $(H_1), (H_6), (H_7)$ and either of (H_2) or (H_3) are satisfied, then every solution of (1) is either oscillatory or tends to zero as $t \to \infty$.

Proof. Let x(t) be a solution of (1). If x(t) is oscillatory, then there is nothing to prove. Let x(t) be nonoscillatory. Assume that x(t) > 0 eventually. There exists a $t_1 \ge t_0 + \rho > 0$ such that x(t) > 0 and $x(t-\rho) > 0$ for $t \ge t_1$. Setting

(2)
$$w(t) = x(t) - \sum_{i=1}^{t} c_i(t)x(t - \tau_i) - \sum_{i=1}^{n} \int_{t_0}^{t} \int_{s-\delta_i + \sigma_i}^{s} q_i(\theta)G(x(\theta - \sigma_i)) \, d\theta \, ds - F(t),$$

then Eq. (1) can be written as

(3)
$$w''(t) + \sum_{i=1}^{n} \{ p_i(t) - q_i(t - \delta_i + \sigma_i) \} G(x(t - \delta_i)) \le 0$$

for $t \ge t_1$. Hence $w''(t) \le 0$ for $t \ge t_1$. Thus there exists a $t_2 \ge t_1$ such that w'(t) > 0 or < 0 for $t \ge t_2$. Let w'(t) < 0 for $t \ge t_2$. This in turn implies that w(t) < 0 for $t \ge t_3 \ge t_2$ and $\lim_{t\to\infty} w(t) = -\infty$. Then there exist $t_4 > t_3$, $\epsilon > 0$ and $\lambda > 0$ such that $0 < \epsilon < \lambda$, $w(t) < -\lambda$ and $F(t) < \epsilon$ for $t - \rho > t_4$. Hence from (2),

$$\begin{aligned} x(t) &= w(t) + \sum_{i=1}^{l} c_i(t) x(t - \tau_i) \\ &+ \sum_{i=1}^{n} \int_{t_0}^{t} \int_{s-\delta_i + \sigma_i}^{s} q_i(\theta) G(x(\theta - \sigma_i)) \, d\theta \, ds + F(t) \\ &\leq -\lambda + \left[\sum_{i=1}^{l} c_i(t) + \beta \sum_{i=1}^{n} \int_{t_0}^{t} \int_{s-\delta_i + \sigma_i}^{s} q_i(\theta) \, d\theta \, ds\right] \max_{t-\rho \leq s \leq t} x(s) + \epsilon \\ &\leq -(\lambda - \epsilon) + \max_{t-\rho \leq s \leq t} x(s). \end{aligned}$$

Then by Lemma 1, it follows that x(t) cannot be nonnegative, a contradiction. Hence w'(t) < 0 is not possible.

Next, suppose that w'(t) > 0 for $t \ge t_2$. Then w(t) > 0 or < 0 for large t, say for $t \ge t_5 \ge t_2$. First, suppose that w(t) < 0 for $t \ge t_5$. Then w(t) is bounded and

(4)
$$x(t) - \sum_{i=1}^{l} c_i(t) x(t-\tau_i) - \sum_{i=1}^{n} \int_{t_0}^{t} \int_{s-\delta_i+\sigma_i}^{s} q_i(\theta) G(x(\theta-\sigma_i)) \, d\theta \, ds < F(t).$$

We claim that x(t) is bounded. If not, then there exists a sequence $\{T_k\}_{k=1}^{\infty}$, $T_k > t_5$ for every k such that $T_k \to \infty$ and $x(T_k) \to \infty$ as $k \to \infty$. In particular, for $t = T_k$, (4) gives

$$x(T_k)[1-c-\beta\sum_{i=1}^n\int_{t_0}^{T_k}\int_{s-\delta_i+\sigma_i}^s q_i(\theta)\,d\theta\,ds] < F(T_k).$$

Letting $k \to \infty$, we obtain a contradiction. Hence our claim holds. Further, if $\limsup_{t\to\infty} x(t) = \lambda > 0$, then integration of (3) form t_5 to t yields a contradiction, because G is nondecreasing and (H_2) or (H_3) holds. Hence $x(t) \to 0$ as $t \to \infty$.

Finally, suppose that w(t) > 0 for $t \ge t_5$. From the increasingness of w(t) and the assumptions on F(t), it follows that there exists a real $\beta_0 > 0$ such that $w(t) + F(t) > \beta_0$ for large t, that is

(5)
$$\phi(t) = x(t) - \sum_{i=1}^{t} c_i(t)x(t-\tau_i)$$
$$- \sum_{i=1}^{n} \int_{t_0}^{t} \int_{s-\delta_i+\sigma_i}^{s} q_i(\theta)G(x(\theta-\sigma_i)) d\theta ds > \beta_0$$

for $t \ge t_6 > t_5$. This in turn implies that there exists a positive number β_1 such that

(6)
$$\phi(t) \ge \beta_1 w(t)$$

for $t \ge t_7 \ge t_6$. If this is not true, then there exists a sequence $\{T_k''\}, T_k'' \to \infty$ as $k \to \infty$ such that

(7)
$$\phi(T_k'') \leq \frac{1}{k}w(T_k'')$$

or

$$w(T_k'')+T(T_k'') \leq \frac{1}{k}w(T_k'')$$

or

$$(1 - \frac{1}{k})w(T_k'') + F(T_k'') \le 0.$$

If $w(T_k'') \to \infty$, then $F(T_k'') \to -\infty$, a contradiction to the boundedness of F(t). If $w(T_k'')$ tends to a constant, then from (7), we have $\phi(T_k'') \to 0$ as $k \to \infty$ a contradiction to (5). Hence (6) holds. consequently, $x(t) \ge \beta_1 w(t)$ for $t \ge t_7$. Then from (3)

(8)
$$w''(t) + \sum_{i=1}^{n} \{p_i(t) - q_i(t - \delta_i + \sigma_i)\} G(\beta_1 w(t - \delta_i)) \leq 0$$

for $t \ge t_8 \ge t_7$.

Let (H_2) hold. Since $w(t) > \mu$ for some $\mu > 0$, then integrating (8) from t_8 to t and letting $t \to \infty$, we obtain a contradiction.

Next, suppose that (H_3) holds. Set r(t) = -w'(t). Then r'(t) = -w''(t). Then r(t) < 0, nondecreasing and

$$tr'(t) \ge G(\beta_1 \mu)t \sum_{i=1}^n \{p_i(t) - q_i(t - \delta_i + \sigma_i)\}$$

for $t \ge t_8$. Integrating the above inequality from t_8 to t gives

$$tr(t) - t_8 r(t_8) - \int_{t_8}^t r(s) \, ds \ge G(\beta_1 \mu) \int_{t_8}^t s \sum_{i=1}^n \{p_i(s) - q_i(s - \delta_i + \sigma_i)\} \, ds$$

Since r(t) is nondecreasing, then the above integral inequality gives

$$1 \geq \frac{G(\beta_1 \mu)}{t(-r(t_8))} \int_{t_8}^t s \sum_{i=1}^n \{p_i(s) - q_i(s - \delta_i + \sigma_i)\} \, ds,$$

a contradiction. Hence w(t) > 0 is not possible for large t.

If x(t) < 0 for large t, then one may proceed as above to prove the theorem. This completes the proof of the theorem.

Theorem 2. Let $\sum_{i=1}^{l} c_i(t)$ be in the range (A₅). If (H₁), (H₂), (H₇) and (H₉) are satisfied, then every solution of (1) is either oscillatory or tends to zero as $t \to \infty$.

Proof. Let x(t) be a nonoscillatory solution of (1). Assume that x(t) > 0and $x(t-\rho) > 0$ for $t \ge t_1 \ge t_0 + \rho > 0$. Setting w(t) as in (2), we obtain (3). Hence $w''(t) \le 0$ for $t \ge t_1$. Then w'(t) > 0 or < 0 for some $t \ge t_2 \ge t_1$.

Let w'(t) > 0 for $t \ge t_2$. Then integration of (3) from t_2 to t gives

$$w'(t_1) \geq \sum_{i=1}^n \int_{t_2}^t \{p_i(s) - q_i(s - \delta_i + \sigma_i)\} G(x(s - \delta_i)) \, ds.$$

Letting $t \to \infty$, the above inequality, in view of (H_2) , yields $G(x(t)) \to 0$ as $t \to \infty$. Hence $x(t) \to 0$ as $t \to \infty$.

Next, suppose that w'(t) < 0 for $t \ge t_2$. Thus there exists a $t_3 \ge t_2$ such that w(t) < 0 for $t \ge t_3$ and $\lim_{t\to\infty} w(t) = -\infty$. We claim that x(t)is bounded. If not, there exists a sequence $\{T_k\}_{k=1}^{\infty}$ such that $T_k \ge t_3$ for every $k, T_k \to \infty$ as $k \to \infty, w(T_k) \to \infty$ and $x(T_k) \to \infty$ as $k \to \infty$ and $\max_{t_3 \le t \le T_k} x(t) = x(T_k)$. Then we have

$$w(T_k) = x(T_k) - \sum_{i=1}^{l} c_i(T_k) x(T_k - \tau_i) - \sum_{i=1}^{n} \int_{t_0}^{T_k} \int_{s-\delta_i+\sigma_i}^{s} q_i(\theta) G(x(\theta - \sigma_i)) \, d\theta \, ds - F(T_k) \geq x(T_k) [1 - \sum_{i=1}^{l} c_i(T_k) - \beta \sum_{i=1}^{n} \int_{t_0}^{T_k} \int_{s-\delta_i+\sigma_i}^{s} q_i(\theta) \, d\theta \, ds] - F(T_k).$$

Letting $k \to \infty$, in view of (H_9) , we obtain $w(T_k) \to \infty$ as $k \to \infty$, a contradiction. Hence our claim holds, that is, x(t) is bounded. Consequently, w(t) is bounded, a contradiction.

If x(t) < 0, the proof of the theorem may be treated similarly. The theorem is proved.

Remark 1. Theorem 2 improves Theorem 3 due to Manojlovic et al. [4].

In the following, we give a stronger condition than (H_2) under which every solution of (1) oscillates when (H_7) holds.

Theorem 3. Let $\sum_{i=1}^{l} c_i(t)$ be in the range (A_5) . If $(H_1), (H_4), (H_7)$ and (H_9) and

$$(H_{10}) \qquad \sum_{i=1}^{n} \{p_i(t) - q_i(t - \delta_i + \sigma_i)\} \ge b, \quad b \ge 0 \text{ is a constant}$$

hold, then every solution of (1) is oscillatory.

Proof. Suppose that x(t) is a nonoscillatory solution of (1). Assume that x(t) > 0 and $x(t-\rho) > 0$ for $t \ge t_1 \ge t_0 + \rho > 0$. Then from (3), we have $w''(t) \le 0$ for $t \ge t_1$ and hence w'(t) > 0 or < 0 for some $t \ge t_2 \ge t_1$.

If w'(t) < 0 for $t \ge t_2$, then $\lim_{t\to\infty} w(t) = -\infty$. Proceeding as in Theorem 2, one may show that x(t) is bounded. Consequently, w(t) is bounded, a contradiction.

Next, suppose that w'(t) > 0 for $t \ge t_2$. Then integrating (3) from t_2 to t, we obtain

$$\infty > w'(t_2) \ge b \int_{t_2}^{\infty} G(x(s-\delta_i)) ds.$$

Therefore, $G(x(t)) \in L^1([t_2, \infty))$. Since uG(u) > 0 and G is nondecreasing, then $x(t) \in L^1([t_2, \infty))$. Hence

$$z(t) = x(t) - \sum_{i=1}^{l} c_i(t) x(t - \tau_i) \in L^1([t_2, \infty)).$$

Setting $\phi(t) = z(t) - F(t)$, we see that

(9)
$$\phi'(t) = w'(t) + \sum_{i=1}^{n} \int_{t-\delta_i+\sigma_i}^{t} q_i(s) G(x(s-\sigma_i)) \, ds \ge 0.$$

Hence $\phi(t)$ is nondecreasing. Further, since (H_4) holds, then $\phi(t) > 0$ for large t. Hence

$$\lim_{t \to \infty} z(t) = \lim_{t \to \infty} (z(t) - F(t)) = \lim_{t \to \infty} \phi(t) = \mu, \quad \mu \in (0, \infty).$$

Thus there exists a $t_3 \ge t_2$ and $0 < \epsilon < \mu$ such that $z(t) > \mu - \epsilon$ for $t \ge t_3$. Hence $z(t) \notin L^1([t_2, \infty))$, a contradiction. Hence $x(t) \ge 0$ for large t.

In a similar way one may show that $x(t) \neq 0$ for large t. This completes the proof of the theorem.

Corollary 1. Suppose that all the conditions of Theorem 3 are satisfied except the condition (H_4) . Then every solution of (1) is either oscillatory or tends to zero as $t \to \infty$.

Proof. Proceeding as in the lines of Theorem 3, one may arrive at $x(t) \in L^1([t_2, \infty))$ and (9). Since $\phi(t)$ is nondereasing, then

$$\lim_{t \to \infty} z(t) = \lim_{t \to \infty} (z(t) - F(t)) = \lim_{t \to \infty} \phi(t) = \mu, \quad \mu \in [0, \infty).$$

If $\mu > 0$, then we obtain a contradiction as in the proof of Theorem 3. If $\mu = 0$, then x(t) < z(t) implies that $x(t) \to 0$ as $t \to \infty$. The proof is complete.

Proceeding as in the lines of Theorem 1, one may prove the following theorem.

Theorem 4. Let $c_i(t), i = 1, \dots, l$ be in the range (A_2) or (A_3) . Further assume that $(H_1), (H_5)$ and (H_7) hold. If either (H_2) or (H_3) holds, then every solution of (1) is oscillatory or tends to zero as $t \to \infty$.

Theorem 5. Let $c_i(t)$, $i = 1, \dots, l$ be in the range (A_4) . Let (H_1) , (H_7) and

$$(H_{11}) \qquad \qquad \sum_{i=1}^n \int_{t_0}^\infty \int_{s-\delta_i+\sigma_i}^s q_i(\theta) \, d\theta \, ds < \infty$$

hold. If either (H_2) or (H_3) is satisfied, then every bounded solution of (1) is oscillatory or tends to zero as $t \to \infty$.

Proof. Since x(t) is bounded, then $\limsup_{t\to\infty} x(t) > 0$ implies that $w'(t) \to -\infty$ as $t \to \infty$ and hence $w(t) \to -\infty$ as $t \to \infty$. On the other hand, since x(t) is bounded ,and (H_1) and (H_{11}) hold, then (2) yields that $x(t) \to \infty$ as $t \to \infty$, a contradiction. Thus the theorem is proved.

Remark 2. In the above results, the condition (H_7) forces us to assume (H_1) . The above results remain true when G is linear or sublinear. The prototype of G satisfying the hypothesis of the above results is $G(u) = |u|^{\gamma} \operatorname{sgn} u, \gamma \leq 1$.

3. Main results - the case when $\sigma_i \geq \delta_i$, $i = 1, \dots, n$.

In the following, we shall replace the assumption (H_7) by (H_8) . Hence the following results remains true for all types of G.

Theorem 6. Let $c_i(t), i = 1, \dots, l$ be in the range (A_2) or (A_3) or (A_5) . Further, suppose that (H_2) and (H_8) hold. Then every solution of (1) is oscillatory or tends to zero as $t \to \infty$.

Proof. let x(t) be a eventually positive solution of (1). Then w(t) > 0 or < 0 for large t. If w(t) < 0 for large t, then x(t) < F(t) for large t and hence $x(t) \to 0$ as $t \to \infty$. If w(t) > 0 for large t, then w'(t) > 0 for large t, say for $t \ge t_2$. Integration (3) from t_2 to t and using (H_2) and the nondecreasing property of G, we see that $x(t) \to 0$ as $t \to \infty$. The above line holds when x(t) < 0 for large t. The proof is complete.

Theorem 7. Suppose that $c_i(t), i = 1, \dots, l$ be in the range (A_1) . If (H_2) and (H_8) hold, then every solution of (1) is oscillatory or tends to zero as $t \to \infty$.

Proof. If x(t) is an eventually positive solution of (1). Setting w(t) as in (2), we obtain (3) for large t. Hence w(t) > 0 or < 0 for large t. If w(t) > 0

for large t, then w'(t) > 0 eventually. Then integration of (3) from t_1, t_1 large enough, to ∞ , in view of (H_2) and the nondecreasing property of G, we see that $x(t) \to 0$ as $t \to \infty$. Let w(t) < 0 for large t. then

(10)
$$x(t) < F(t) + w(t) + \sum_{i=1}^{l} c_i(t) x(t - \tau_i)$$

If $\lim_{t\to\infty} w(t) = -\lambda$, $\lambda > 0$, then there exists a $\epsilon > 0$ such that for $0 < \epsilon < \lambda$, we obtain, for large t

$$\limsup_{t\to\infty} x(t) \ < \ -(\lambda-\epsilon) + c\limsup_{t\to\infty} x(t)$$

or,

$$(1-c)\limsup_{t\to\infty} x(t) < -(\lambda-\epsilon) < 0$$

a contradiction to the fact that x(t) > 0 eventually. If $\lim_{t\to\infty} w(t) = 0$, then taking lim sup both sides in (10) we have

$$\limsup_{t \to \infty} x(t) < c \limsup_{t \to \infty} x(t),$$

which ultimately yields that $x(t) \to 0$ as $t \to \infty$. The proof of the theorem is same if x(t) < 0 eventually. This completes the proof of the theorem.

Theorem 8. Let $c_i(t)$, $i = 1, \dots, l$ be in the range (A_4) . If (H_2) , (H_8) and

$$(H_{12}) \qquad \qquad \sum_{i=1}^n \int_{t_0}^\infty \int_s^{s-\delta_i+\sigma_i} q_i(\theta) \, d\theta \, ds < 1,$$

then every bounded solution of (1) is oscillatory or tend to zero as $t \to \infty$.

Proof. If x(t) > 0 for large t, and bounded, then (H_{12}) implies that w(t) is bounded. If $\limsup_{t\to\infty} x(t) > 0$, then integration of (3) from t_2 to ∞ , t_2 large enough, we have $w'(t) \to -\infty$ a contradiction to the boundedness of w(t). Hence $x(t) \to 0$ as $t \to \infty$. The proof of the theorem may be treated similarly if we assume x(t) < 0 for large t. The proof is complete.

Remark 3. From the above results, it follows that when G(u) = u, that is for the linear case, the assumption $\alpha_i \geq \sigma_i$ or $\alpha_i \leq \sigma_i$ is not required though the authors have assumed (see [4], [5]). It would be interesting if one removes the restriction (H_1) on G for $\delta_i \geq \sigma_i$, $i = 1, \dots, n$ (see Section 2).

Acknowledgment: The author is thankful to the anonymous referee for his or her helpful comments in revising the manuscript to the present form.

References

- CHUANXI, LADAS G., Oscillations in differential equations with positive and negative coefficients, *Canad. Math. Bull.*, 33(1990), 442-450.
- [2] CHUANXI, LADAS G., Linearized oscillations for equations with positive and negative coefficients, *Hiroshima Math. J.*, 20(1990), 331-340.
- [3] GYORI I., LADAS G., Oscillation Theory of Delay Differential Equations, Clarendon Press, Oxford, 1991.
- [4] MANOJLOVIC J., SHOUKAKU Y., TANIGAWA T., YOSHIDA N., Oscillation criteria for second order differential equations with positive and negative coefficients, to appear in Appl. Math. Comp.
- [5] PARHI N., CHAND S., Oscillations of second order neutral delay differential equations with positive and negative coefficients, J. Ind. Math. Soc., 66(1999), 227-235.
- [6] PARHI N., CHAND S., On forced first order neutral differential equations with positive and negative coefficients, *Math. Slovaca*, 50(2000), 81-94.
- [7] RATH R.N., MISHRA N., Necessary and sufficient conditions for oscillatory behaviour of solutions of a forced nonlinear neutral differential equation of first order with positive and negative coefficients, *Math. Slovaca*, 54(2004), 255-266.
- [8] YU J.S., Neutral differential equations with positive and negative coefficients, Acta Math. Sinica, 34(1991), 517-523.

Seshadev Padhi Department of Applied Mathematics Birla Institute of Technology Mesra, Ranchi-835 215, India *e-mail:* ses_2312@yahoo.co.in

This work is supported by "Department of Science and Technology, New Delhi, Govt. of India, under BOYSCAST Programme vide San. No. 100/IFD/ 5071/2004-2005 Dated 04.01.2005.

Received on 27.04.2006 and, in revised form, on 09.02.2007.